Part II after questions 9,10, 11

ÏÏ
ÏÏ«Ï ----jGRASP exec: java Driver
ÏÏ§Ï
ÏÏ§ÏAge 12: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 16: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 9 inches 
ÏÏ§Ï == DIFFERENT ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 20: 
ÏÏ§Ï Mike:  6 feet 6 inches 
ÏÏ§Ï Bill:  6 feet 7 inches 
ÏÏ§Ï == DIFFERENT ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 70: 
ÏÏ§Ï Mike:  6 feet 6 inches 
ÏÏ§Ï Bill:  6 feet 6 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
¼¼ÏÏ
